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Data Interpretation Table Chart Questions for 
SBI Clerk Pre, IBPS Clerk Pre, RBI Assistant, 
LIC Assistant Exams 

DI Table Chart Quiz 17 

Direction: Study the following table carefully and answer the questions based on it. 

Number of women working in various departments of six different organisations 

Organisation 
Department 

Production HR IT Finance Marketing Merchandising 

P 155 250 320 405 150 50 

Q 178 300 415 318 127 90 

R 58 275 204 250 188 66 

S 102 190 198 200 190 75 

T 110 100 256 305 250 85 

U 60 150 225 220 168 35 

 

1. The number of women working in the HR department from organization S is what 

per cent of the total number of women working in the HR departments from all 

organizations together? (rounded off to two digits after decimal) 

A. 13.45%   B. 19.16%   C. 21.92% 

D. 15.02%   E. None of these 

2. What is average number of women working in the Finance department from all 

organizations together?  

A. 226    B. 283    C. 312 

D. 308    E. None of these 

3. Which organization has the least number of women employees working in all the 

given departments together? 

A. T    B. R    C. U 

D. S    E. None of these 



 

 

4. What is the ratio of the number of women working in the IT department from 

organizations P, Q and U together to the number of women working in the Marketing 

department of organizations P, S and T together? 

A. 59 : 33   B. 96 : 31   C. 71 : 19 

D. 71 : 23   E. None of these 

5. If the women working in the Production department of organization Q were also to 

work in its Merchandising department, what would be the approximate percentage of 

women employees working for the Merchandising department of organization Q? 

A. 19    B. 26    C. 11 

D. 23    E. 15 
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Correct Answers: 
 

1 2 3 4 5 

D B C E A 

 
Explanations: 

1. Reqd. % =  
190 

 × 100 
250 + 300 + 275 + 190 + 100 + 150 

 

=   
190 × 100 

 ≈ 15.02% 
1265 

 

Hence, option D is correct. 

  

2.   Reqd. avg. =    
405 + 318 + 250 + 200 + 305 + 220 

6 

=    
1698 

6 
 

= 283 
 

Hence, option B is correct. 
  

3.  We can clearly observe from the table that U and R are the two organizations 
which have the least number of working women among all and on further 
observation we find that it is U in which the number of working women is even 
less than that of R.  

 
Hence option C is the correct answer. 

 
 

4. Reqd. ratio =    
320 + 415 + 225 

150 + 190 + 250 
 

=    
960 

590 
 

=  96 : 59 

 

Hence, option E is correct. 

 



 

 

5. Reqd. % =    
178 + 90 

 × 100% 
178 + 300 + 415 + 318 + 127 + 90 

 

=    
268 

 × 100% 
1428 

 
=   18.76 ≈ 19% 
 
Hence, option A is correct. 
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